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2) €5.6,000 Qerub Fleusperar eNhuemar Siemay

Qorgs Hlawwrar Qewasdr  eF. 4,500

Cwrgs wrpUBb Qewaser  ep. 7,500

Qurss eShLemaer

eh. 15,000

From the budgeted and actual sales for June in respect of three
products given below; you are required to calculate sales
variances. |
Budget Actual
Product
Quantity Price per Quantity Price per
unit unit

A 2,500 |’ 5 2,500 5.00

B 2,000 6 3,000 |  6.25

C 1,500 7 2,000 6.75
Total 6,000 7,600

G Qsn@asuul_@erer eparm QUGS QST frLimer
wmsggpanar ELBIL Gt whpih o dreowiren adhLieneaa s,
Sriusar efibLenar wrpurGamend sl CaiamRib. :

ag&eir

S0 vl L gy 2_GHTEN LD TGN
Quim(mer
3|6Te QR Adlen 3|6TaY (T Sjeudeir
eflenad cllanew
A 2,500 5 2,500 5.00
B 2,000 6 3,000 6.25
C 1,500 7 2,000 6.75
s 6,000 7,500
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Time : Three hours Maximum : 75 marks

PART A — (10 x 2 = 20 marks)
Answer any TEN questions.
All questions carry equal marks.

1.  Define Contract costing.
RUILIBS L Ssellene seamrédwe UM TWMISSELD.

2. Give a short note on work certified.
venflésmeny LD Hmn GOUY sms.

3. What do you understand by process costing?
Lgepend SiLsseilene Qeawey upd el yBloug wms) ?

4, Give the meaning of normal loss.
FTSTIET @QUIL&5@E QUTHET &(He.

5.  What is transport costing?
CursGeursg L ss6lme samsHILD eTeTDTED GTee ?

6.  What are standing charges?
BlEneWITET &1L anTihiGeT eTammTed eremmen ?

7.  What is breakeven point?
Qeru BULoHD Letell eremmmed eremen ?

8. Give a short note on Margin of Safety.
L& urgisTiy updl e dflu @Humus sms.

9, Define Variance analysis.
wroiur@ UGUUTU@Mmel euanTniss.

10. What is Labour cost variance?
Ggmplemert Qeewe rmILITH eTemmTed eTebman?

11. - Find out Abnormal Loss/Gain units :
Input — 5,000 units; Normal Loss — 20%; Output — 4,300 units.
SHEMSHTTT BEpL D /| QFSTW Q@GS anernd el Nuwia)b
2atel) —~ 5000 SOGHET; eTsTrET @Oy - 20%;
Geuafui® — 4,300 c"){w@a;m.@

12. Find out Variable Cost :
Sales Rs. 4,00,000; P/V ratio 25%.
LrHUGL eflenaenwid s _flweyb
aflpuaan . 4,00,000; @eoru Serey 69dsn 25%.



13.

14.

15.

16.

PART B — (5 x 5 = 25 marks)
Answer any FIVE questions.
All questions carry equal marks.

Distinguish between Job costing and contract costing.

el o _dsellude wHmIb RUUBS DLES aﬂmw a;ewraseﬂua)

e AwepBline GeoCu GCaupu(Biégs.

The following information relates to the main product A and its

by-product B. B is sold at a profit of 20% on selling price.

Joint expenses

Separate expenses

Rs.

A (Rs.)

B [Rs.)

Materials

20,000

5,000

4,000

Labour

15,000

3,000

2,000

Expenses

10,000

2,000

2,000

Total amount realized by sale of product B was Rs 20,000
Find out the cost of A and B.

Gemaimb ssE WaHW Qummet A o L6 WgTLyemLwg WwHmb
g gwan Gurmar B @b, B elpumer eilemeuid 20%
gl aﬁ];j).SUu@g

ga () Q&a)eqa;e‘rr safl CFwaeser

5 | A (em.) B (¢m.)

ClLm(tbL-gelT 20,000 5,000 4,000

2-enipLiy 15,000 3,000 2,000

[AERYE: oy 10,000 2,000 ' 2,000

suritiy B @ar efipueen e Guplivie Gurgs Cgroms
¢5.20,000. A wpmitd B @ein eflenavarws semrpluab.

State the objectives of transport costing.
CuTEEGTSS SiLsselma sanddude CHrésheEmand dnpis.

Sales Rs 1,00,000; Profit Rs. 10,000; and Variable cost : 70%.

Find out :
(a) P/V Ratio,
(b) Fixed Cost, and
(¢) Sales to earn a profit of Rs. 40,000.
edpLear : eF. 1,00,000; @rUL @h. 10,000; WHPID WIYLED
Qgavey : 70%.
s Hls : \
<) Qeru sera) fdsnd

) Bleneowren Ggewey HHLD
(@) em. 40,000 emub rlL el pLene.
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‘Rs. .
Insurance (Annual) 700
Garage rent (Annual) _ ' 900
Supervision and Salaries (Annual) 2,700
Driver’s wages per hour . 3
Cost of fuel per litre 3
Repairs and maintenance per k.m. 1.75
Tyre allocation per k.m. 0.90

Charge interest at 5% per annum on cost of vehicle. The vehicle

runs 20 kms. per hour on an average and one litre of fuel gives
20 km,

@m grsflar  Gaeumd  grasealldmig Quiigh  HGer
B L mésmean Qeoameud senéd B ke : ,

eumTs e S 6t Loﬁuﬁh_l;u_n'_l_ QWET 1,00,000 &5

2L@r([H LU LLb 15,000 &..8.

(.
unser Fey 25,00,000
Frena 2 Mo (<y6r(H) 750
ST (<) 700
CsCrey eurLana (pam() 900
Gupumieney HMID FDLIETD (<aET(H) 2,700
2@ vl Cersdlne @r-Opfdan 2agluib 3
@ LT erflQumrmefian aflene 3
upg woHmb ugmofliy e &.05.5@ 1.75
@@ §.05.6@ Lwui @gsS0H 0.90

aursarslen ellenauden c%asﬁr(aés@ 5% QU ly GU@EEIEHaD. eUTSETD

gymefluns ¢ Loewi (E([r;gg,ﬁm@ 20 4.5, @hdlng Cuoab @
el it erflGumgner 20 .8, s@Hng.

From the following information relating to BPL Ltd., you are
required to find out

(a) P/V ratio

(b) Breakeven point

(¢) Profit

(d) Margin of safety

(e) Volume of sales to earn profit of Rs. 6,000

‘Total fixed costs Rs. 4,500

Total variable costs Rs. 7,500

Total sales Rs. 15,000 . .
7 62564/CZ26A
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22.

Qs arasLgfld QummLsar

19,000 @uupsb A @dlmbs B

RUUBSHEDE LrHpiu Gerarg). Briser sl Geuarigwg :

(=) @UUBE saTEE

@uUBssTTM6T Senrs @

(<2b)
(&) @@uuﬁm% @PloLy G

sefleunss sm_(Ha.

A product process through three processes' I, II and III from the
following information prepare the process accounts assuming

that were no opening or closing stock.

§05058. boLpmp uafllenwiub

Process I | Process II | Process III
Materials (Rs.) 1,000 1,500 500
Labour (Rs.) 5,000 8,000 6,500
Overheads (Rs.) 1,050 1,188 2,009
Actual output (units) 9,600 9,100 8,100
Normal loss 3% 5% 8%

The wastage of process I was sold at 25 paise per unit, that of
process II at 50 paise per unit and th

unit.

Raw materials of 10,000 units were introduced into process I in

the beginning at a cost of Rs. 1 per unit.

\eirau(mhLd g,ssauebéserﬂéu @@r_‘agﬂ L II womn T eélu epenmy
Lilg.(Lp 60 M E&HET gﬁuwm @b swmiiy Qeuagpepurdps. Qsr_és
o

at of process III at Rs 1 per

g @) FH&HImHLIL Goema ears &Ml Lgapem
SHERTHGHHEETSH ST &S] L.
ugep I | uggpenp I | ugepep 11T

QummL_sar (em.) 1,000 1,500 500
2 enLoLiL] (r.) 5,000 8,000 6,500
GuopQsaasar (o5.) 1,050 1,188 2,009
D_GHTENLOWI TGt 9,500 9,100 8,100
Qeuaflui® (e @s6r)
gmgmyan -G Uil 3% 5% 8%

ugpap I @er siljub @m e@ss 25 eust, ugen I
SAVG @REMES 50 evusr, wHmd Lgapep III & siweE g
10,000  @@seT CasmamL

g 1 &g epsuu@Elermg.

epetburmlad Gsr ssshod Lgwap I G iwE qam . 1

erear P APSIILIRSHILIL L&y

Compute cost per'running kilometer from the following data of a

truck.

Estimated life of vehicle 1,00,000 kms
Annual running 15,000 kms

Rs.
Cost of vehicle 25,00,000
Road licence (Annual) 750
6 62564/CZ26A
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The standard material and standard cost per kg. of material
required for the production of one unit of product X is as follows :
Material 10 kgs
Standard price Rs. 5 per kg
The actual production and related material data are as follows :
800 units of product X
Material used 4,400 kgs.
Price of material Rs. 4.50 per kg
Calculate :
(a) Material Cost Variance
(b) Material Price Variance
‘(¢) Material Usage Variance -
Gurmer X @er @@ w@ 2husdsss Comewnar g HCwr
Qumpeflan  Hlaneowimen ummeT  wpmib  Hleawrar  alena
eraumLomm) :
Qumrmer 10 HGam
Hleowrer ellena p.5 HComayss
eamenlowirar 2 HusH  wHpL CAsTiiyeLw  Qurmer  Spey
erau(pLomm : , '
suriliy X Gleir 800 i@ @s6T
vweTuGiSsLIuL L. QurmeT 4,400 &Geam
Qummer ellena HCevr e 4.50
SES O\
(1) Gummer Geewey wrmUTE
(<) Gummer eflenew wrmimh
(@) Qurr@d_T uweTum (B wrmurE.

From the information given below prepare contract account :

Rs.

Material bought from market 1,500
Material issued from stores 500
Material returned to store 240
Wages 2,440
Direct expenses 294
Works on cost 25% of direct wages

Office on cost 10% of prime cost

Contract price 6,000

50  Osr@ssuur Raer  ssaudld@ps  QUUBS oLdseloma
EEMEDES HWINTESHELD.

ghenguiler @ mhg euriidlu Qumser | 1,500
saLsafled Qmbg amslLGL QuTmmLgE 500
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soL&@E Smundw Qurml s 240

&0l 2,440

Gy Gemayser 294
Cprig smelludied 25% Geuemer Dsoayser HGL '

s Qewcid 10% igieuns Hswe|ser @b

FUUBS el 6,000

19. The standard time and rate for unit component are given below :
Standard hours 20
Standard rate Rs. 5 per hour
Actual data and related information are as under :

Actual production 2,000 units °
Actual hours 41,000 hours
Actual rate per hour Rs. 4.80
Calculate :
(a) Labour cost variance
(b) Labour rate variance
(¢) Labour efficiency variance.
@@ sapsstar  Hoowter  GCprb  wHmbd el &G
QaTH &SI (HeTerTe : _ '
vﬁ@owu_lrrm Gpyd 20
Hevewrear alae o warfll CorsddeE . 5
2_GTenLWITes Sre| HMID CSTL T U SSCUEDSET YetTeu(mLomm) :
2 _eireniowimen 2 HLISE 2,000 e @6 '
o aimeplowmen Lwentl Cryn 41,000 wallCorhisar
@ wearfl CErsHnE 2-ammwbuiner alme ¢h.4.80
& (O : e '
(<1) Qzmflevmerit Qeoey LTHUTEH
(<) Qamerert eldlsb wrpurh
(@) QamPerari e wrmium(.
PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
All questions carry equal marks.

20. Kavi Construction Ltd., is engaged on two contracts A and.B
during the year. The following particulars are obtained at the
end of December 2021.

Contract A Contract B
(Rs.) . (Rs.)
Contract price 6,00,000 5,00,000
Materials issued 1,60,000 60,000
4 62564/CZ26A

Contract A Contract B
(Rs.) Rs.)
Materials returned 4,000 2,000
Materials at site December 31 22,000 8,000
Direct labour 1,50,000 42,000
Direct expenses, 66,000 35,000
Establishment expenses 25,000 7,000
Plant installed at site at cost 80,000 70,000
Value of plant (December 31) 65,000 64,000
Cost of contract not yet certified 23,000 10,000
Value of contract certified 4,20,000 1,35,000
Cash received from contractees 3,78,000 1,25,000
Architect’s fees 2,000 1,000

During the period materials amounting to Rs. 9,000 have been
transferred from contract A to contract B. You are required to

show :
(a) Contract account
(b) Contractee’s account

() Balance sheet extracts, showing work-in-progress clearly.

sell saav_jagern HGLL @@ apepaugits A wppid B bl
@ran@® euubsmsaid mHUL(HeTarg. Hemelmid

2021 @mn#uild Qupliu@dlermen.

QUIITRIGET g FIDLIT

@uUUBSD A | @uuBsd B
(¢H-) (€B-)

@UUBS eflene 6,00,000 5,00,000
QuUITEHLEET GULPRISILILL 6T 1,60,000 60,000
QumpL_ser Hmpblwg 4,000 2,000
g &L 31 gersHled 2 eTer GUMHL&ET 22.000 8,000
Gy 2-mpuy 1,50,000 42,000
Crry. Ceaysdr 66,000 35,000
Carpmiefriy Qseveser 25,000 7,000
sesHe Hpeiule Gur 80,000 70,000
&L &58560
Qumduder walLL (g&buf 31) 65,000 64,000
@UUbhsHdle aflene G egLd 23,000 10,000
Frammar&sl 1L aflene
@Du%’i&:ﬂéﬂ LgluiLy 4,20,000 1,35,000
grempetldaliuT L gl

BubgssTyisa L Blmbg LD 3,78,000 1,25,000

YT R
&Ll L & S @hiiler s L aorib 2,000 1,000
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